HARET F5THel 3 J(8d Tl

(Arithmetic Progression &
geometric Progression)
Ch-4



Page # 124
10 (1v

n SRATF W TG AT [T F:
2+5+14+41+ 122

§fF, s =2+5+14+41

AR s = 2+ 5+ 14+ 41 + 122

aull 1 t

0=2+3+9+27+
tn=2+3+9+27+
=]1+1+3+9

3"-1
3—1

=1+ 1

3n-1

= ]+

8L Foeeeee (t -t _)-t
Bl

+ 27 + 81+

=1+(T+3+9 +27+81+ ..., )



1

[E—

_|_

|
N | =




(3" -1)
il
n _

33"-3) . n

2 2
(3n+1 _ 3) n
4 2

n
+ =
b3

~
o

N = N
VY

|l
+
|

_ 1 (3"t —3) + 2 Ans.
4 2



Page # 124 n SRATF 9 4G SATY fefy F4:

10 (1v

4,

AR s = 2+ 5+ 10+ 17+26

2+5+10+ 17+ 26

s =2+5+10+17+26

0=2+3+5+7+9+
tn=2+3+5+7+9+

=1+1+3+5 +7+

=1+(1+3+5 +7+9+

1+ n?



1
n=2,3F W t,=22+1
n=3,\9?l' t3=23‘|‘1
cevmmeee B G ettt e
n o T4 tn=n2+1
S = (124 2%+ 3%+ 4%+

n(n+1)(2n+1)
6
N { (n+ 1)22n+ 1)

+n

+ 1)

) F @A F1+1 )



N {

( 2n2+2n+n+1

(n+1)(2n+1)

6

+ 1}

6

+1)

(2n2+3n +1+6)

6
2n%+3n +7
( )

6




